MacAulay (1992)
Elicited by Sylvia Reed, 12/01/2008; Session 9(08); Track 125

Unmarked notes are based on information in MacAulay. Marked notes are from Reed.

Adjustments to the sentences and glosses are made with braces ({}) when an addition has been made and strike through (this) when something has been removed.

1. Nach

dèan
sibh
suidhe?

neg.Q

make
2p
sit.vn

‘Won’t you make a sitting?’

Note: With 2 and 3, illustrating different levels of deferentiality; this is most deferential.

2. Dèan suidhe!
make sit.vn

“Make a sitting!”

Note: Imperative

Note: With 1 and 3, illustrating different level of deferentiality; this is “polite” but not deferential on the scale of 1

3. Suidh!

sit.imp

“Sit down!”

Note: Imperative

Note: With 1 and 2, illustrating different level of deferentiality; this is an overt command and not deferential at all.

4. Seas!

stand.imp.2s

“Stand up!”

Note: An example of a sentence existing only of one verb (in this case, an unmarked imperative)


5. Seasaibh!

stand.imp.2p

“Stand up!”

Note: Like 4, but in this case the command is in the plural.

6. Seasamaid!

stand.imp.1p

“Let us stand up!”

Note: verb is hortatory. 

7. Seas 

thusa!

stand.imp.2s 
2s.emph

“You stand up!”

Note: This sentence consists of a verb and a noun, the noun being added to the imperative for emphasis. This is called a “particularizing imperative.”

8. Seasadh 
esan!

stand.imp.3 
3sm.emph

“Let him stand up!”

Note: A “third-person imperative” sentence. Such sentences must always carry either the pronoun or the noun subject of the imperative.

SR Note: NSC was unsure about this one.

9. Seasadh 
e!

stand.imp.3 
3sm

“Let him stand up!”

Note: Like 8, but without the emphatic suffix on the pronoun

SR Note: NSC was unsure about this one.

10. Seasadh 
Iain!

stand.imp.3 
John

“Let John stand up!”

Note: Like 8 and 9, but with a noun instead of a pronoun.

SR Note: NSC was unsure about this one.

11. Seas, 

Iain!

stand.imp.2s 
John.voc

“Stand up, John!”

Note: An identifying imperative, using an imperative with a vocative.

12. Iain, 

seas!

John.voc 
stand.imp.2s

“John, stand up!”

Note: Same as 11, but with word order reversed.

13. Seas thusa, Iain!

stand.imp.2s 2s.emph John.voc

“You stand up, John!”

Note: Showing how identifying and particularizing comparatives can be combined.

14. Iain, seas thusa!

John.voc stand.imp.2s 2s.emph

“John, you stand up!”

Note: Same as 14, but with the elements reversed.

15. ?Dh’òladh 
am bainne.

drink.past.imp the milk

“The milk was drunk.”

Note: impersonal Passive
SR Note: NSC not sure of grammaticality (MacAulay predicted grammaticality)
16. Chaidh am bainne 
òl.

go.past the milk 
drink.vn

“The milk was drunk.”

Note: Chaidh passive

17. *Chaidh 
falbh.

go.past 
leave.vn

“A departing happened.”

Note: informal register, unlike the formal tone it takes on in English.
SR Note: MacAulay predicted grammaticality; NSC says ungrammatical.
18. Dh’òladh 
am bainne 
leis 
na 
cait.

drink.past.imp the milk 
with 
the.p 
cat.p.dat

“The milk was drunk by the cats.”

Note: Demonstrating the impersonal active shown in 124, but with an agent—note, however, that this is rare in Gaelic. (It is most often found as a calque on English usage)


19. Chaidh am bainne 
òl 

leis 
na 
cait.

go.past the milk 
drink.vn 
with 
the.p 
cat.p.dat

“The milk was drunk by the cats.”

Note: Like 18, only this one demonstrates an agent with the impersonal active in 16-17.

20. ?Mharbhadh Iain 
leis 
a’ 
ghunna.

kill.past.imp John 
with 
the 
gun.dat

“John was killed with a gun.”

Note: Showing the more typical use of “le” in Gaelic, as the instrumental preposition, not the agentive one.
SR Note: NSC was not sure about this one (MacAulay predicted grammaticality)
21. ?Mharbhadh 
Iain 
le 
Calum.

kill.past.imp 
John 
by 
Malcolm.dat

“John was killed by Malcolm.”

Note: Reaffirming that “le” can be used as the agentive preposition, even if this is not common.
SR Note: NSC was not sure about this one (MacAulay predicted grammaticality)
22. Tha 
Iain 
ga 


mharbhadh.

be.pres John 
at/prog.3sm.pos 
kill.vn.dat

‘John is killing him’

*‘John is being killed.’
Note: Demonstrating a true Gaelic passive, with the sufferer in the subject position. Like all such passives, it is aspectually marked. Were the pronoun in the predicate to refer to someone other than the subject, John, the sentence would have the meaning “John is killing him.”
SR Note: MacAulay cites second translation as grammatical. NSC states ungrammatical without ‘fhèin’ as in 23.
23. Tha 
Iain 
ga 

mharbhadh 
fhèin.

be.pres John 
prog.3sm.pos 
kill.vn.dat 
self

“John is killing himself.”

24. Tha 
Iain 
ga 

mharbhadh 
aca.

be.pres
John 
prog.3sm.poss kill.vn.dat 
at.3p

“John is killing at them/John is being killed by them.”

Note: Showing how a Gaelic passive can take an agent.

25. Tha 
Iain 
air 
a 

mharbhadh 
aca.

be.pres John 
after 
3sm.pos 
kill.vn.dat 
at.3p

“John has been killed by them.”

26. Tha 
Iain 
marbh aca.

be.pres John 
die.va at.3p

“John has been killed by them.”

Note: Another kind of passive with agent.

27. Tha 
Iain 
leònte 

aca.

be.pres John 
wound.va 
at.3p

“John has been wounded by them.”
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